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SN - H - SRA(EH) - MRAY - sty 013 o 2
A& ot 1,046,445 1,080,732 A 34,287
6,700 6,700 0
1,039,745 1,074,032 N34,287
KAl & 2tel 839,072 873,359 A 34,287
6,700 6,700 0
832,372 866,659 N34,287
AFTHE =28 839,072 873,359 A 34,287
6,700 6,700 0
832,372 866,659 N34,287
SHOA 21t 533,844 575,391 A41,547
101 el 126,269 136,979 A 10,710
10 JIZHMIZ224SE = 126,269 136,979 A~ 10,710
ONEFEHIIAT AL AMHRIR 21,064 31,774 A~ 10,710
-8 2 Z 34,6603 1 * 1401 S 642 x50% 15,528 23,639 A8, 111
—ZtAH] 22,0003 14 64 x22| x50% 1,792 2,728 A 936
—F5E ZE 34,6603 +6H «362 *50% 3,744 5,407 A 1,663
201 LEH2 | 359,672 390,509 A 30,837
01 AtE22/Hl 264,536 295,373 A 30,837
Oget=gH| 258,796 289,633 A 30,837
—IHEFEIIH ZEEIA BS=+2 ZE 5,5443+14,000= x50% 38,808 66,528 N27,720
—HEFEIIA JAMER HBS=+=+2 0 520 A 520
=g =80 =N L SEZAE 24,0002 #502 200 400 A200
—HEEIIR =N EEE cHE1 Z 29,700 10 A 297 594 A 297
—JHgE=EDIA g28 g2t ZE100& +5,0000H 500 1,000 A 500
—HE =80t ZESKNE ZE60,000& 102t A 600 1,200 A600
—IHEFEIIH XA H EEE St MH ZZ50,000& * 1000 2 +23] 1,000 2,000 A 1,000
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SA-FB . SA(3) - MEAMY - BLS 0O & o4 pJE-Ll HlRZ2

Me2tel 24X 216,279 209,019 7,260

201 Let2dl 88,823 81,563 7,260

01 AR 22l 29,999 22,739 7,260

OXEA MR FE2x3 L =4 MHA ol82(H2) 7,260 0 7,260

—NMEFE X3 HMHIA 3,960,000 3,960 0 3,960

—&A = F MHIA 3,300,000 3,300 0 3,300




